SUMMATIVE ASSESSMENT - II, 2012 67014
Gehterd udrarm - 11, 2012
SCIENCE / fag=
Class - X/ &l - X

Time allowed : 3 hours Maximum Marks : 80

fuifta vw= : 3 9ue Jfereran 37 : 80

General Instructions :

The question paper comprises of two Sections, A and B. You are to attempt both the
sections.

All questions are compulsory.

There is no overall choice. However, internal choice has been provided in all the five
questions of five marks category. Only one option in such questions is to be attempted.

All questions of Section-A and all questions of Section-B are to be attempted separately.
Question numbers 1 to 4 in Section-A are one mark questions. These are to be answered in
one word or in one sentence.

Question numbers 5 to 13 in Section-A are two marks questions. These are to be answered
in about 30 words each.

Question numbers 14 to 22 in Section-A are three marks questions. These are to be
answered in about 50 words each.

Question numbers 23 to 25 in Section-A are five marks questions. These are to be answered
in about 70 words each.

Question numbers 26 to 41 in Section-B are multiple choice questions based on practical
skills. Each question is a one mark question. You are to select one most appropriate
response out of the four provided to you.
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10.

SECTION-A / WRT-37

Write the structure and name of the functional group present in acetic acid.

Tfgfeah 3T o YeRMIcHe WHE ohl A QU1 SHh! L=l fafed |

Name the part of human eye having light sensitive layer.

TS 5 % 39 9 1 A1 fafae it e el wd 2t 7

State any two practices which can help in the protection of our environment.

AR UITeROT & EIETOT H TErdh foheel ar Uiehansit @t fof@w |

What percentage of energy of sunlight is captured by green plants when it falls on their leaves ?

T @ 7 arell Soll dT fohdar ufaera HeT & uieul & gRT Je0T fhar S1ar § St I8 3
gfedl W Usdr § ?

Two elements X and Y have atomic number 12 and 16 respectively. Write the electronic
configuration of these elements. State the period of these elements. What type of bond will be
formed if these two elements combine together ?

& deal X d>r Y &7 UTATI] HEAT hAA: 12TAT 16 &1 3 dedl & Felaeiiae a=ard fof@u|
g dedl & 3aa fof@w| afg 3 gl dca 30d & TIET & dl R TR & A6y
g ?

How does the atomic size of elements vary in going from (a) left to right in a period, (b) top to
bottom in a group ?

dcdl & WA & Fiesl A fhE YR & uRadd &d 8 Fa e (i) el 3mad & ar-ft 3k @
gt 3R A, (i) forely FaE A I A A Sa 2

What is vegetative propagation ? List two plants which are grown by vegetative propagation
of stem.

Fifash FaeT 91 € 2 T < el ) et AR 9 a9 % R gaeE gr S S

Draw a diagram to show budding in hydra. State a difference between budding in hydra and
budding in yeast.
TES H gHed ol T & fore s wifaw | eeel v @ie # ggper ¥ fades wifsm

Write two differences between real and virtual image.

rfeeh TR 9T gfdfens o g g7 1<) fafau |

What is meant by dispersion of white light ? Name the various colours of spectrum of white
light in proper sequence.
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11.

12.

13.

14.

15.

16.

Why do the stars twinkle but moon does not ? Explain.

N =i feafera € e == Tl feafenmar ? = sifse

Mention any two changes that you can make in your habits to become more environment
friendly.

T B TITROT AT Bl g1 &6 R 3y 30T 3edl A plad aRada o gy ?
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Name the four main elements which formed coal from bio-mass.

SITHTT (ARATATE) H PIFell defed DT Ulshar # Ugeh IR UHW dedl & A1 Tf@T|

Write chemical equations to explain the following reactions :
(@) Esterification

(b) Hydrogenation
1 erfwfsmanedi o forg Tamates Tt forfe

(a) TERTO SAfufsHa
(b)  EESISHIH stfufspan

How would the following properties of the elements vary along a period
from left to right in the modern periodic table ? State a reason in each case.

(@) Tendency to lose electrons

(b) Metallic Character

(c) Valency
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(b)  arfcas wafor

(c)  HIANSThdr

Draw the diagram shown on your answer sheet and label the parts A, B, C and D. Name and
state the function of hormone secreted by part A.
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17.

18.

19.

20.

21.

22,

“The sex of the child is determined by what they inherit from their father”. Justify the
statement with illustrations.
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In a cross, tall plants are dominant over short plants. If F1 (plants) off springs selfed, what will

be the genotype of F2 generation ? Explain.
fopelt Wetor § vl W S Uil ot gor § goret € 2 AfE Uil 6t Fy Fafd o1 TORnTer ShaEl S

F, Tdfd o1 S Y&Y9 -7 BRT1 2 T9F ShifSu |

a) What are called fossils ?

b) How do fossils form layer by layer ?

c¢) How do we calculate the age of fossils ?
)

St fohe Fed © 2
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s5)
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An object 4 cm in size, is placed 25 cm in front of a concave mirror of focal length 15 cm. At
what distance from the mirror should a screen be placed in order to obtain a sharp image ?
Find the nature and the size of the image.

T 4 cm HES i IE 15 cm HIHE T A1 1aad 3991 H 25 cm § @ 9 &1 901 9 fopat g8
R U W1 Afed qifeh A1 yfafers g & "ok 2 yfifers st Yehfa IR WSt 1 Hhifed |

i) Define power of a lens. Write the S.I unit in which power of lenses is stated ?
if) Which type of lens behaves as convergent lens and which are as a divergent lens ?
iii) A convex lens has a focal length of 50 cm. Calculate its power.

(
(
(
() 9 I & ohl gRIfad RIS | A T & o ford 5.1 wEek fafed |
(i)  fF9 YRR 1 o9 AR S @ SR fohd YR T oY STIERt B § 2
(il) T ITA G hl WhT U 50 cm &1 TIRT &7 1T HifST |

A student cannot read the black board clearly when he sits at the last bench of the class.

(@)  Name the defect of vision he is suffering from.

(b)  List two causes of this defect of vision.

() Draw a labeled ray diagram to show how this defect can be corrected, using an
appropriate lens.

Fell H god NS 1 5" T 93T HIE 91 TIAHIS T Tl I Tl |
a) TEfragfedwd dfeas?
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23.

24.

(b)
©)

79 gfte i % < FRON H G AR
3 o9 & T g 9 S I GINfd A guiA o faw Amifed fewor e wife )

Complete the following chemical equations and write the names of products.

a)
b)

(
(
©)
(d)
(e)

CH;COOH + NaHCO; —»
CH, =CH, + Cl, ——»
CHy + Cly ———»

CH:CH,OH alkaline IQ\/InOLLﬁ
Hot
CHSCHZOH W

frefafed TamfTes gl Sl qU RIS 991 3ART & M off fafed |

(@)

jo¥)

CH;COOH + NaHCO; ———»
CH, =CH; + Cl, ——»
CHy + Ch, ———»

CH,CH,OH & LN
™
CHsCH:OH — &

OR/3en
Write chemical equation for each of the following reactions :
(i)  When methane burns in the presence of oxygen.
(i) When alcohol reacts with sodium.
(iii) When ester react with base.
Describe two properties of carbon which leads to huge number of carbon compounds we
see around us.

=1 et stfafseansti o ford et g fafes
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Draw a diagram with four labellings to show the germination of pollen grain on stigma.

What are sexually transmitted diseases ? Give two examples of such diseases.
FfThTT TR TRETHTN T 3THI01 <9 & faw =R T wfeq s wifaw |
I HaRa W 0§ ? 39 THR o <1 Wi A4 fafa |

OR/31¥aT

What is meant by binary fission ? Draw a labelled diagram to show different stages of
binary fission in amoeba.

State any two methods of contraception giving one example of each.

fgaued 4 1 arcgd § 2 erfen o fgavea & fafu= =woll 1 <wii & fau amifea sma
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25.

26.

(b) T FRE = fR=l < fafeEl o1 Seeia Uoish o1 Teh IQTEX0T Qe hifsTl |

(a) Draw the ray diagram of the following cases to show the position and nature of the
image formed, when the object is placed :

(i) between C and F of concave mirror
(if) between F and P of concave mirror
(b) (1) Define principal focus of a lens
(

ii) How will a ray of light incident at the optical centre of a lens go after
refraction ?

@) i feafei & wfafora =t fafa ok ypfa foem & fo@ fRro-sma Eifaw safs awg =t
@R :
iy  1§dd gUU % C dRF & o4

ii)  oTaqe YU F 3R P & &=
i) o9 % &I BRI I IR i |

(
(
(
(i) et 9 & et s WX SATfa foRTon sTverde < o1 fohe eRr St ?

OR/3TeraT
(@) Define absolute refractive index of a given medium.
(b) Light enters from air into diamond which has refractive index of 2.42, calculate the

speed of light in diamond. The speed of light in air is 3 X 108 m/s.

() Given below are some material medium with their refractive index given in parenthesis.
Arrange them in the decreasing order of optical density.

Alcohal (1.36), Benzene (1.5), Sapphire (1.77), Ice (1.31)

(a)  fordl T3 wrem o ford fRU&T STgerdich hl R hifs |

(b) TS I foRor a1 ¥ ER H YW Sl § e sTued iR 2.42 1 Afe IRy § eRret w1 A
3x108 m/s © 0, B H THHI AT T Hiferd |

€ T T goare A fod € ek stverdaier wige o o €1 3¢ weRmeta o9 & wIed A
¥ Safed HifT |
TEHRIEIA (1.36), w1 (1.5), T (1.77), &% (1.31)

SECTION - B / 4T-&

When Zn granules are added to Ferrous Sulphate solution the colour of the solution will 1
change from:

(@)  green to blue (b) blue to green

(c)  pale green to colourless (d) from colourless to blue

el T gethe o faeram H fie ot Svrerid ereft st € @ facram o1 a1 uftafia & s g -
(@) Y e (b) & F T

(c) Bk B W O (d) TR G e
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27.

28.

29.

30.

A student prepares solution of CuSO,, Al>(SO4);, FeSO4 and ZnSO4 in water separately in four
beakers. He observes that some solutions are colourless and some are coloured. The ones which
are colourless are:

(a) CuSO4, A12(804)3 (b) A12(504)3 P /n SO4

() Fe SOy, Zn SO, (d) CuSOy, Zn SO4

e farene 3 sterm-3tem sl § CuSOs, Aly(SOu)s, FeSO4 3R ZnSO, o faeta dam fohd | S&m

o T2 faoaa TR € R o T &1 N o TR Ea © -

(a) CuSO4, A12(804)3 (b) A12(504)3 P /n SO4
() Fe SOy, Zn SO, (d) CuSOy, Zn SO4

A colourless liquid smells like vinegar. The liquid could be

(@) hydrochloric acid

(b) sodium hydroxide solution

() sodium carbonate solution

(d) acetic acid

Teh TR gd &l T4 fsh S B 1 e ga &l gahal © -
(a)  TESEAIRE A

(b)  wifean gEglRREe faeeH

()  Hifean wEMe faeed

(d)  THfew e

When red litmus paper is put into acetic acid solution :

(@) it changes to blue (b) it remains red

() it becomes colourless (d) it becomes green
TfHfeeh et H ol forend o gie W 78 -

@) T S@EI (b) A B SR
() URFE e d TORSE@IEI

5 mL each of water and acetic acid were mixed and shaked well. The final mixture will appear

transparat \___ P recipitate
solution = 7
I I I\
(a) I (b) 11 () I (d) v

qHT qer ufafed 3, YAE i 5 mL HET Sl Teh WEAet 4 fade 3=t @t feaman =1 9
frgror free & | S fomE < ?

Clear Rk E White
transparat \ . o/ Precipitate
solution =
11 v
(¢ I d IV
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31.

32.

33.

34.

To find the focal length of a concave mirror a student has to focus a distant object with this
mirror. Which one of the following would you suggest him to choose ?

(@) a distant tree
(b) a distant building
() the sun

(d) a burning candle placed on the laboratory table

TRt oTaret U i WIRE T T F & FAT RIS D w1 39 U0 g TRt qRe fare Rl Wik
T T | 7 T T fonsii & 9 o179 39 fohd g7 1 gare < 2

A student obtained a sharp inverted image of a distant tree on the screen placed behind the
lens. He than removed the screen and tried to look through the lens in the direction of the
object. He would now observe :

(@) a blurred image on the wall of the laboratory.

(b) an erect image of the tree on the lens.

() no image as the screen has been removed.

(d) an inverted image of the tree at the focus of the lens.

foret B 7 ©F & 1o W U¢ W frdl g g4 I 1801 I Fidfors Hhishdd {31 | $Heh TG
3T IS hl TR T W BIR 3T &7 ! WA 1 TA fohaT | 319 98 <@ ¢

()  JEANTIET %1 SN W gl ol gere Sfdfors

(b) <9 W g&T <kl Hien Hdfors

© o =R wfafara T2 o= a1 *=iifer wgi ger foran man 7

(d) Y % hIRE T I& hH1 I Gldfere

To determine the focal length of a convex lens, when the image of a distant object is obtained on
a screen, the distance to be measured is between the :

(@) lens and screen (b) lens and object

() object and screen (d) object and its image

e W ford guEy ford @1 gfafera 9T i o 99 S99 " F wieRd gU fAuiia wE  fag
foheToh o=t shT 0 AT SITelt & 7

(a) 9 F U % o= HI (b) oG 3R fora & o= =t

) W= 4 fora & &= &l d) fora IR 3@ wfafara & <= =t

Four students perform an experiment on “tracing the path of a ray of light passing through a
rectangular glass slab”. Their individual observations are :
(i) angle of emergence is less than the angel of refraction
(ii) angle of emergence is greater than the angle of incidence
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35.

36.

(iii)  emergent ray is parallel to the refracted ray
(iv)  emergent ray is parallel to the incident ray
The correct observation is that of the student

@ () (b) (i) (c) (iii) (d) (iv)
IR BE A B Bl UEHT F THIT F Y Sifohd FH HT T TR STH T T&F B Al A&

o -
()  fid o sTuedd o | w9 T

(i) Tl IoT STaa wor ¥ e R

(iii)  ffa foror ervafda fervor & TAR 1

(iv) i foor smufaa foor & TmmwR 2|

Tt Yerr f5r9 B gR1 fRan T e € -

@ () (b) (i) (€ (i) d (@)

A student was advised by his four friends regarding the angle of incidence that should be taken
for an experiment on tracing the path of a ray of light passing through a rectangular glass slab.

@  20°,50° 70° (i) 20°,45° 60°

(iii) 30°,50° 80° (iv) 30° 45° 60°

The best option that he should follow is the option

(@) () (b) (if) () (i) (d) (v)

Teh BT i 3Tk TR Sl o hid i Gfgehl ¥ YhIsT st fortor o1 99 3ifehd shed o 9amT | @@t giom
9Tl R ok T3l f77 3T SRI0T S1eR 9aIRT R <1 e T -

(i)  20°,50° 70° (ii) 20°,45° 60°

(iii)  30°,50°, 80° (iv) 30° 45°, 60°

IHhI T A BT AN

@ @ (b)  (ii) (© (i) (d) (@)

After observing slide of binary fission of amoeba four students were asked to draw diagrams.
The appropriately illustrated binary fission in Amoeba is :

B C D

@ A (b) B © C d D

o7 & fgEed ot WiEe SEH & g =R faenfaf=i @ smien & fgeies =1 goid gu sfua s wi=m
& foru et | St & fgEies w1 we frefud e ¥
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37.  After observing slide of binary fission in amoeba, a student was asked to identify the correct
process in binary fission in Amoeba :

(@) First cytoplasm divides before division of nucleus.
(b) Both cytoplasm and nucleus divide simultaneously.
() Nucleus divides first, followed by division of cytoplasm

(d) Development of tiny outgrowth divides the parent cell into two daughter cells.

3Tie < fgie st wige <& o qv=r Uk foenefi 9 fgued i wel ufshan vg= & ford wve

(a) =k %k Ged | B FIRTR 54 I e

(b)  H=h 3R HINTH T4 1 Tk & 999 § Ged

(€) TR Frseh Bl Wed IR Ik 1S HITRI 5 H1 Ged

d)  BR-BR YR H fowm o e Hiftre &1 faarse < gafa eifereet § 2 g1

38.  Out of four slides (I), (II), (IIT), (IV) whose details are shown below which one would you focus
for showing budding in yeast ?

o B T 3

I

@ @ (b) (D (© (1 @
= feu e st ® 9R WS (1), (10), (101, (1V) % faega foero quie e €1 fiw § qger &
Y&10 A & e T & foRd amma gemestt # wisnfaa w2

o B T

@ @ (b) (D) (€ (D (d @)

39. In the following figures budding is illustrated in an incorrect sequence.

A B C D

The correct sequence is :
(a) A,CD,B (b) A,D,B,C () CABD (d) D, A,B,C
= fau e fosl # geper 1 wd wH H TR e T
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40.

41.

A B - C D

TR TE HA T :
@) ACDB (b ADBC () GCABD (d DABC

A teacher soaked 10 raisins in 35 mL of distilled water in a beaker labelled ‘A’ and similar
activity she performed and labelled the other beaker ‘B’. She maintained the temperature of
beaker “A” at 20°C and of beaker ‘B’ at 40°C. After about an hour, what will be percentage of
water absorbed by raisins in beaker ‘A" and by those in beaker ‘B’ :

(@) samein A and B (b) morein A and lessin B

() moreinBandlessin A (d) exactly twice in B than in A

foreht farfarnt 3 10 formifisll 1 SR ‘A7 § 35 mL Td i B i 3R g5t gaR &1 fopamham
IR SRt ‘B’ H off a1 3807 Sleht A’ 3T T 20°C QeI Sk ‘B’ ST T 40°C Tenfad foham | ammem
Teh ¥ & U9Td S ‘A’ d Sliohd ‘B’ | ToherfHen grI STasiiftd STet ohl Hfsraal &1 gt ?

(a) AdBHEAR (b) AH AHBH FA

(c) B s AT ®Y (d) BH A 3 AT

What is the percentage of water absorbed by the raisins when initial weight (w1) of raisinsis4 g
and final weight (w?) after soaking the raisins in water at room temperature is 6 g ?

(@ 20% (b) 40% () 50% (d) 60%

forufirell GT0 STerio STt Rl WfRTaar 91 R STafsh fohsirel ol TR 9N (w1) 4 g & a1 911
a3 a9 R frufie 1 A % geema o fmefiae 1 R (wo) 672

(@ 20% (b) 40% () 50% (d) 60%
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